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You can now finish Hwk #42

Sec 9-5

Due tomorrow
Page 518

Problems 26, 28, 44, 46 - 48



Solve. 1. Solving Rational Equations: Sec 9-6

X l — ; Basic Steps:
9 6 3
1. Eliminate ALL denominators from the equation
2. Solve the equation that remains after eliminating
denominators
9
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1. Sohe. Method 2:
2. 2.\. 4+ 7 2 i G Method 1 Eliminate ALL Denominatc:)rs by
= 0 7~z A — Get common Denominator for ALL multiplying both sides of the equation by
s 6 > J & terms of the equation then cancel the LCM of all denominators. Finish by
out all denominators. Finish by solving remaining equation
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Simplify each side of the equation
into a single ratio, creating a proportion.

Then, cross
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Method 3:

multiply and solve.
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